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(i) Define the investment. Explain the different sources of investment

information's. (6)

(ii) An investor has choice to invest in one of the following two securities

Situation Probability Return P (%) Return Q (%)

Good s0% 18 21

Normal 40Yo 14 l5

Bad 10% -3.0 -5.0

(a) Find the expected return and risk (in term of standard deviation) of

each security.

(b) Which security is good for investment? Why? ( l2)

(i) Define the investment. Discuss the feature and objectives of investment'

(8)

(ii) Discuss the procedure of trading in securities in the stock market' (10)

(i) Elaborate various types of risk in bonds' (6)

(ii) The bond of XYZ Ltd is currently selling at Rs' 860' The bonds have 4

years to maturity and carry a couppn rate of 10 %' Should investor buy the

bond if his required rate ofreturn is l2To? (12)

Or

(i1 Define the credit rating agency' Discuss the factors considered by Credit

rating agency in assigning the rating symbols' (8)

Or

-a--
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(ii) A bond having face value of Rs. 1100 carrying a coupon rate of l0oZ p.a.
is redeemable after l0 years. Calculate the value ofbond if required rate
of return is 15% and the bond is redeemable at (i) 1050 (ii) Rs 1150.

(10)

(i) Differentiate between fundamentals and technical analysis. As an analyst which
do you prefer? Why? (8)

(ii) What is efficient market hypothesis? Discuss the advaatages and disadvantages
of Efficient market hypothesis (10)

Or

(i) Technical analysts believe that investors can use the past price changes to
predict future price changes. How do they justify this beliefl (g)

(ii) A firm currently paying a dividend bf Rs. 3 per share. The rate of
dividend is expected to grow at 60/o for the first 3 years and goZ thereafter.
Calculate the value of equity share if the required rate of return of the
investor is 12%. ( 1 0)

(i) Discuss the assumptions and limitations of Markowitz theory. (g)

(ii) An Investor has two securities M and N, for investment purpose that details
are given below

Securities

Expected return 10% 12o/o

Risk in term of standard deviation 3%

Coeffi cient of correlation -l.0
calculate the portfolio return and risk if 30% of money invested in security
M and 70o/o money invested in security N. (10)

4
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Or

(i) What is portfolio management? How modern theory is different from

traditional theory ofPortfolio (12)

(ii) Write short note anY three :

(a) Capital Assets pricing model limitation

(b) Effrcient Portfolio

(c) Capital market line

(d) Diversification

(2x3=6)

(i) What is mutual fund? Discuss various types of mutual fund schemes'

(10)

(ii) calculate the Net Asset Value of a Mutual fund when the following information

is provided :

Details

Bank balance

Cash balance

Equity shares/debenture

Expenses

No. of Units outstanding (8)

Or

5

Rs.

3,50,000

5,25,000

I i,50,000

75,000

1,3s,000

(a) Factors affecting the choice of mutual funds'

(b) Discuss the various Participants in derivatives market'

(4)
(D

(4)
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(a) Difference between future and forward contract.

(b) Discuss the growth of Mutual fund in India.

I.

2

(s)

(s)

(i) frfu dcfrflkdqtr ftfu #ft urrort+frtu{ffi dqretqtr (o)

(;) fi*nm + qn ffift'+r a vtu$frql* + + ffi \'+, q fffu qd qr ft-o-dc e

R{fr iil{l.l{l firr{n 1"u.; Mq&i
3td 5U/o l8 2t

€IIIrq 40Yo t4 15

gff Itr/o -50

(w) r+o ffinfi 6r sEfufr vRs-m ft +tr{q (qa-6 B{tr{ * treai fr ) am ot

(e) fttn + frs 6t{ft nFdl1fr u-d A? d? (rz )

(i) Ritt s] qfrflR-{ cir fftn * fril$il ft stgit w a-qf otr (a)

(ii) irt emn { yRgdqt.- i qrcr fr rfrqr qr q-li ctr (to )

(r) <rs i frfuq y-+,n + AR"{S + sfr + fr<n t crrE}r (o)

(ii) xvzftrRtsqrqEqtfiTS aoo wlcrftfirail crsfrqfrq-€dr ss& c s{

A rk Efi* qrT R m% 1, q1 ginm d ctr €tfir qrBs qR vr* sms{t'

cRs-fi q{ 12% l? (rz)
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( i ) iR-c itrr vte a} qtufi-r qt r tRn Fffi e} ftfu ffi+ t *E'c ttur vQrft ar<r

E-qR fts m+ sre qrrd m d etr (a)

(ii) noo wt d ffi-c 1a crf,r v6 crs, frs vt roz nfr q{ fr qfi c( *, ro ssl d
cr€ +fi qlq ir qR yRtn-a d snrro tn rsx i *r crg +fi +rq t, + cis +
rafrrprnai (i) roso (l) rrso wtr (rc)

(i) gffi *r ffi'fid frsecur + ft{ srdr qtr vo mso' + w i ilc m vcc

c.t+*? Hl? (e)

(ii) qro ililn qR6-6Hr er *? qrm qrflR qR6H{r + sTqa *t 1u'<rt w z-d
qtr (to)

qT

(i) n-o-{-fr ffi qr qrqcr * tu frfurq qEq * Tg cF{6+ * qRq*ft qt*
+ Rs M T€ qRs-*+ 6r itcfr{ q't qo'i i arqrur fr ct cre s sfr * fts cx
dt sct crq ez q-d+ d sd-{ il qE ff*re' fr srrft * ilrEcq-6' Et tzx i, *
ffi +q( * {s d {Ern ei-r (to)

(i) crffi€ ga6 $ qqdr* ft *cr'x] qt qql oir (a)

(ii) vt,fr*a-+-*qmRtu*stqtavfu[M rra *t Nl, ft-{6rA-+tur++frcr
rrqr t
ytu1Rqr

gqtuil frrt
qrro fr*rr+ di
irAequ 6r {ufifi

M

10o/o

3%

N

l2o/o

-1.0

ficfu& t',ti sox urft+{rfrqrurcrt attffi1h N{ zox trtfrfuftqt
ur*r l, i qt&ilFr& fte* f,t( clkc fr rrrrir qir (to)
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qT

(i) qlefrfr vstm rf,r i? tSM + qrtrfu Md + srgtu Md fris IrdFR

ft-qil (tz)

(t) et€ *< RftR +c ftfrs (z,.s=o)

(r) gftn wfr ae ftuftsr msd mqr{

(e)Eua*&Rr&

ft) ifr<rontot

(e)ERfi-clut

5. (i) qgira q:s Ecr *? frft-;a ron d rera cis Affir* ct s-d frtt (to)

(r) ffifre ur+ort v-sm frs qr+ qt €ffi us * g-d vRwft 5r d wrn

6t-

Details

Bank balance 3,50,000

Cash balance 5,25,000

Equity shares/debenture l1,50,000

Expenses 7s,000

No. of Units outstanding 1,3 5,000 (8)

qI

(a )

Rs.

(i) (o,) *rero si * qm d vqrE-d ct+ sr+ mrm ct<-* l?

P.T.O.
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(e) tRitrr <run i frk{ vfr!{rm vt TS 6tr

(ii) (m) vg*d ft ff u-gs + ftq sttr

(c) rrrcr i -fgr* r,-s + frc'm vt Tql 6t
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